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Question Number : 1 Question Id : 249363473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is a single binary digit known as?
Options:

1 Bit

5 w DByte
- u Kilobyte

4 % Megabyte

Question Number : 1 Question Id : 249363473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. » Te (Bit

> » 91sc (Byte)
. » [pamEEe (Kilobyte)
, » HIMEEE (Megabyte)

Question Number : 2 Question Id : 249363474 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A computer kevboard is classified as a/an device.
Options:

, w Storage

5 % Inemory

5  input

4 % output

Question Number : 2 Question Id : 249363474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 3 Question Id : 249363475 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following devices cannot be shared on a network?

Options:
1 % Hard disk

> o Mouse
% % Printer

4 # CD Drive

Question Number : 3 Question Id : 249363475 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 4 Question Id : 249363476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the below units is used to measure the quantity of data stored on any storage device?

Options:



1 % Hertz

> % Baud
5 Bytes

4 # Clock cycles

Question Number : 4 Question Id : 249363476 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 5 Question Id : 249363477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is NOT an objective of a multiprogramming operating system?

Options:
1 % Reduce CPU idle time

- % Maximise processor utilisation

-  Minimise user input time

4 % Avoid deadlock

Question Number : 5 Question Id : 249363477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, ®» CPU & TFT &l &7 FA1
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Question Number : 6 Question Id : 249363478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which command is used to change a password in Unix?

Options:
1 ® pass

~ % chpass
5 % setpass

4  Dasswd

Question Number : 6 Question Id : 249363478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
e, pass

. % Chpass
5 = Set pass

4  Ppasswd

Question Number : 7 Question Id : 249363479 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which program runs when a computer boots itself?
Options:

, = System operations

> % System process



5  Operating system

4 # Application software

Question Number : 7 Question Id : 249363479 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 8 Question Id : 249363480 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A isatvpe of device that is used to identifi people by their unique physiological or behavioral characteristics.
Options:

1 « Biometric device

> % Web camera

5 = Joystick

4 ® Scanner

Question Number : 8 Question Id : 249363480 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 249363481 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The terminal that cannot process any information is known as:

Options:
1 % Direct access terminal

- » Intelligent terminal

= « Dumb terminal

G

Smart terminal

o
®

Question Number : 9 Question Id : 249363481 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 10 Question Id : 249363482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which technology is used to read pencil or pen marks on a multiple choice answer sheet?

Options:
, ® OCR
5> % MICR

- % POS

4 & OMR



Question Number : 10 Question Id : 249363482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, % OCR

. % MICR
- % POS

. v OMR

Question Number : 11 Question Id : 249363483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The smallest unit of a computer screen is called:

Options:
1 ® Bit

> ® Cell
3 « Pixel

4 % Element

Question Number : 11 Question Id : 249363483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 12 Question Id : 249363484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Registers are parts of:



Options:

, « Central Processing Unit

> % Output device
- » Inputdevice

4 % Control unit

Question Number : 12 Question Id : 249363484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 13 Question Id : 249363485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the first stage in the software development process?
Options:

1 % Maintenance

> % lesting

- » Specification & design

4  System analysis

Question Number : 13 Question Id : 249363485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 14 Question Id : 249363486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is a Secondary Memory Device?

Options:
1 % ALU

. % CPU
3 ¢ CD

4 % Mouse

Question Number : 14 Question Id : 249363486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 15 Question Id : 249363487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is the utility used to increase the speed of a program?
Options:

, « Disk defragmenter



- % Disk cleanup

= % Disk formatter

4 = Disk segmentation

Question Number : 15 Question Id : 249363487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 16 Question Id : 249363488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who designed the first electronic ENIAC?

Options:
1 % John von Neumann

- % Joseph M. Jacquard
-  J. Presper Eckert and John W. Mauchly

4 # Dennis Ritchie

Question Number : 16 Question Id : 249363488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1%
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Question Number : 17 Question Id : 249363489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which command is used to make a new directory?

Options:
1. ¢ Md

> R Cd
=z % Create

4 % New

Question Number : 17 Question Id : 249363489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

| TEE (Md)
.« T (Cd)
. » U (Create)

4 % =g (New)

Question Number : 18 Question Id : 249363490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A printer that produces the owtput by pressimg o print element anad animbed rbbon against the face of a contimenms paper
form is called:

Options:

| « lmpact printer
-~ % Non-impact printer

5 % Scanning printer



4 w Laser printer

Question Number : 18 Question Id : 249363490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 19 Question Id : 249363491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is a utility program that locates and eliminates unnecessary fragments and rearranges files and
unused disk space to optimise operations?

Options:
, w Disk fragmentation

> % Fragmentation
-  Optimise drives

4 % Disk defragmenter

Question Number : 19 Question Id : 249363491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 20 Question Id : 249363492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which program does your personal computer use to start the system after you turn it on?

Options:
1 ® DBoot

> % Source code
= % Initialisation

4 « BIOS

Question Number : 20 Question Id : 249363492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 21 Question Id : 249363493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following types of devices connects to a network without the use of cables?

Options:
1 % Distributed

> o Wireless

- % Centralised



4 % Open source

Question Number : 21 Question Id : 249363493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 22 Question Id : 249363494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The network of computers that connects people all over the world is called:

Options:
1 % Web

- " Internet
z % LAN

4 % VLAN

Question Number : 22 Question Id : 249363494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1_%-3%3

, ¢ ST

e (LAN)

g,

et (VLAN)

4 %



Question Number : 23 Question Id : 249363495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of these is NOT a form of biometrics?
Options:

1 % Retina scan

-~ w Finger print
- # DBreath scan

4 « Password

Question Number : 23 Question Id : 249363495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 24 Question Id : 249363496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which key is used to remove text from a document?

Options:
1 « Delete

> % Function

- % Space bar

4 % Tab

Question Number : 24 Question Id : 249363496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 25 Question Id : 249363497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Ethernet is used in which of the following topologies?

Options:
, « Bus topology

- % Ring topology
5 » Iree topology
4 % Startopology

Note: For thisquestion, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 25 Question Id : 249363497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

o ® a-a EIEIUIE

4 % TER Trers
Note: For thisquestion, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 26 Question Id : 249363498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



A secret code that restricts entry in the same program is called:
Options:
1 « Password

5 % Passport

5 » Entrycode

4 # Access code

Question Number : 26 Question Id : 249363498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

Question Number : 27 Question Id : 249363499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In a network with 25 computers, which one of the following topologies would require the least cabling?

Options:
, = Mesh topology

- u Star topology

5 = [Iree topology

4  Ringtopology

Question Number : 27 Question Id : 249363499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 28 Question Id : 249363500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is NOT a type of firewall?
Options:

, w Packet-Filtering Firewall

-~ u Proxy Firewall

5 » Stateful inspection

4  Single Layer Firewall

Question Number : 28 Question Id : 249363500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 29 Question Id : 249363501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A software that prevents external access to a system is called:
Options:

| % Gateway



> « Firewall

- % Intrusion Prevention system

4 % Anti-Virus

Question Number : 29 Question Id : 249363501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 30 Question Id : 249363502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following statements is true of the slide plane in a PowerPoint window?

Options:
, w Itdisplays quick access buttons such as Save, Undo & Redo

-~ % It contains commands such as New, Save & Open
- % Itisused to minimise the program window

4
It is usually found on the left side of the window, which displays thumbnails of the available files

Question Number : 30 Question Id : 249363502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 31 Question Id : 249363503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following network topologies is known as a linear topology?

Options:

, % Star topology

> % Circular topology

-  DBus topology

4 ® Mesh topology

Question Number : 31 Question Id : 249363503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 32 Question Id : 249363504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option which indicates only graphics files?

Options:
1 # BMP and DOC

> % JPEG and TXT



z % TXT and STK

4 « BMP and GIF

Question Number : 32 Question Id : 249363504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. » BMP 3ilt DOC

. » JPEG #HT TXT
- » TXT 3r STK

. v BMP 3T GIF

Question Number : 33 Question Id : 249363505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a type of topology?

Options:
, % Star topology

~ » DBus topology

5 % Ring topology

4  Circle topology

Question Number : 33 Question Id : 249363505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 34 Question Id : 249363506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the first step in sizing a window?
Options:

, % Pointing to the Title bar

- u Pulling down the View menu to display the toolbar
-  Pointing to any corner or border

, » Pulling down the View menu and changing to large icons

Question Number : 34 Question Id : 249363506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 35 Question Id : 249363507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is NOT included in the definition of multimedia?

Options:
1 % Animation
> # Graphics

-  Multimedia projector

4 % Text



Question Number : 35 Question Id : 249363507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 36 Question Id : 249363508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is responsible for loading the Windows kernel into memory?

Options:
1 ® POST

> ® NTLDR
2 ® CMOS

4 « MBR

Question Number : 36 Question Id : 249363508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| % POST
, # NTLDR
; # CMOS

. + MBR

Question Number : 37 Question Id : 249363509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
NFS is an abbreviation of:



Options:
1 % Net Free System

> w NetFile System

-  Network File System

4 % NextFile System

Question Number : 37 Question Id : 249363509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
NFS T 90T &7 §&:

Options:
, = Net Free System

. » Net File System
-  Network File System

4 % Next File System

Question Number : 38 Question Id : 249363510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following devices is required for an internet connection using a telephone line?

Options:
1 « Modem

-~ ® RAM
3 % CD Drive

4 = Joystick

Question Number : 38 Question Id : 249363510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

mmmmm?mmam$ﬁmmmﬁﬂmmmwﬁ?

Options:

| v HIH



. % RAM

=z # CD Drive

g * Eﬁﬁ%’_ﬂ

Question Number : 39 Question Id : 249363511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What does the F12 key do?

Options:
| « Opens Save As dialog box

-~ » Opens dialog box
5 % Saves dialog box

4 » Closes dialog box

Question Number : 39 Question Id : 249363511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

F12 =it a1 & 82

Options:

. v “Save as’ STl ST9H T open FIAT £

. % SIS FFH H TrerdT gl

. % SIGENIT FFH N AT FAT g

, w SIIeT S & 9G HLT g

Question Number : 40 Question Id : 249363512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Concatenation of texts in MS-Excel can be done using which of the following?
Options:

, = Apostrophe ()

> w Exclamation (!)



5 » Hash (#)

4 v Ampersand (&)

Question Number : 40 Question Id : 249363512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
THRTH TR A & (Rmeeg) = weeew el # ¥ e svee a3 w7
Options:

, » Apostrophe (')
-, % Exclamation (!)
- » Hash (#)

4 w Ampersand (&)

Question Number : 41 Question Id : 249363513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
For a small website, one needs to buy space from which of the following?

Options:
1 % Network administrator

- u Telephone exchange
3 o ISP

4 % Internet

Question Number : 41 Question Id : 249363513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T oI o 3TmEe ¥ v, T 7 ¥ 5 ¥ 5T wies $r 3rSgdar g 82

Options:

|« Heas vsfAfRRR

2 « ISP



4 % T

Question Number : 42 Question Id : 249363514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following provides services to connect to the internet?

Options:
1 % IP address

> % TCP/IP connection
3 o ISP

4 w» Google Chrome

Question Number : 42 Question Id : 249363514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

@ & § FI9 I Setae @ Fa9¢ = F @7 TI0 JeIT T 87

Options:
1 % |IP address

- # TCP/IP connection
z « ISP

, » Google Chrome (FaTer IH)

Question Number : 43 Question Id : 249363515 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The server on internet is also known as:
Options:

| % Repeater

5 % Gateway

= « Host

4 % Router

Question Number : 43 Question Id : 249363515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

S W T & &FF 3K a7 o = FJar 22
Options:

g_ﬁm
S.u?m

4 B T3¢

Question Number : 44 Question Id : 249363516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a shortcut key for Spelling and Grammar Check in MS-Word?

Options:

o R F5
=z B F1l

4 % F12

Question Number : 44 Question Id : 249363516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TATH-I5 # da+1 3R et & J= & v Fafafla 7 @ #r aicee S 82

Options:

> R FE‘
. ® F1

. = F12

Question Number : 45 Question Id : 249363517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a type of page margin?
Options:



4 % Top

Question Number : 45 Question Id : 249363517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

foafafag & & &7 T o FfeT # TR J8f 27
Options:

1_33?1“’?:
g_fﬁm
3 v Heed

4_$¢<E|-':E

Question Number : 46 Question Id : 249363518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is a ‘gutter margin’ in MS Word?

Options:

, w Margin that is added to the left margin when printing

-  Margin that is added to the binding side of a page when printing
- % Margin that is added to the right margin when printing

4, % Margin that is added outside of the page when printing

Question Number : 46 Question Id : 249363518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
THUH a5 H '71eT AlfelT &7 g ar 87

Options:

e ATfS S HEoT % SR AT @fdvar A Ser S @




E_Jmﬁamwﬁaﬁﬁﬁmﬁ,ﬁ%mmmgrm%
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Question Number : 47 Question Id : 249363519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the shortcut key to create a copyright symbol?

Options:
1 & AL+ Clrl +C

A Alt+C
2 # Cirl+C
4 2 Chl+8hift +C

Question Number : 47 Question Id : 249363519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FIARTSE Foha Hiold FL & (o0 AEHT Fair (1) FAT 82

Options:

L ¢ Alt + Ctrl + C
. % Alt + C
2 % Ctrl + C

. % Ctrl + Shift + C

Question Number : 48 Question Id : 249363520 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Pressing F8 key for three times selects

Options:
1 % aword

> « asentence



- % aparagraph

4 % the entire document

Question Number : 48 Question Id : 249363520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
F8 =it (1) & it IR g8 W T =TI 2T 2l

Options:
| # T A

> o Ueh dleFT
z ® Wﬁﬂ
. w T EEAEH

™

Question Number : 49 Question Id : 249363521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A Virtual Private Network creates a/an through the internet.

Options:
1 « tunnel

o R BRI
% % connection

4 % SSH session

Question Number : 49 Question Id : 249363521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TYHST YIS Acds AT F ACTH T TH SATT 2|

Options:
1.« Ceolel

, = BRI

o % Fererele



4 % SSH T

Question Number : 50 Question Id : 249363522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Liz can receive e-mails, but zhe cannot send an e-mail. Which of the following is most likely causing her problem?

Options:
, % POP3

5 « SMTP
5 % IMAP

4 % UART

Question Number : 50 Question Id : 249363522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AF T A F OFa ¢, AT g s im dF 7l O Ees F o s o sodr o=
FFAT E7

Options:

, » POP3
- « SMTP
s % IMAP

. # UART

Question Number : 51 Question Id : 249363523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is an example of Toggle case?

Options:
, % TOGGLE CASE
- » toggle case

5 « tOGGLE cASE

4 = Toggle Case

Question Number : 51 Question Id : 249363523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
T # & #iF I@7 a9 5 F UF 380 87

Options:

, » TOGLE CASE

. » toggle case

- v tOGGLE cASE

4 » loggle Case

Question Number : 52 Question Id : 249363524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

What is the key combination to copy a formula from the cell above the active cell into the cell or the Formula Bar, in
M5 Excel?

Options:

, % CTRL+38
2. ¢ CIRL +'
= % CERL +"
4 % CTRL +~

Question Number : 52 Question Id : 249363524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TATH THFAA # Hel A BAA aX A B 8 F 7R, Bl T & Foen Ho7 i & e Fa
U (FT FiFaa12T) 4T &7

Options:

, % CTRL + 8
, ¢ CTRL +°
s % CTRL +”

. % CTRL + ~

READING COMPREHEMNSION

Section Id : 24936348
Section Number : 2
Section type: Online



Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 5

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 24936348
Question Shuffling Allowed : Yes

Question Id : 249363525 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cuesticon Label | Comprehension



Read the passage given below and answer the questions that
follow by marking the most appropriate option out of the four
given after every question.

Now, there is a second rose garden in the Capital! The New Delhi
Municipal Council (NDMC) has marked a space exclusively for
the fragrant flowers on Satya Marg. Chanakyapuri. Built on a
sprawling 3 acres area. if is just across the existing India-Africa
Friendship Rose Garden on Shantipath. It was inaugurated on
June 15, 2016 by then Urban Development Minister M. Venkaiah
Naidu. NDMC officials said the garden will delight residents.
tourists and officials of embassies in the area alike.

Large lily and lotus ponds are being made at the new rose garden.
Besides. ommamental fountains are also being installed. A
horticulture official said. “Nearly 70 varieties of roses have been
planted here akin to the ones in the India-Africa Friendship Rose
Garden. This includes natives. hybrids and miniature breeds.”

Rosa Louis Odier., Rosa Double Delight. Voor Elisa. Blush
Rambler. Clementine and Rosa Cricket are some of them.

Last year. the Urban Development Ministry handed over the
erstwhile National Rose Garden to NDMC. Previously being
maintained by the Rose Society of India. it had lately fallen into
disuse. The municipal body revived the garden by planting close
to 6,000 indigenous and exotic varieties of roses. Pathways,
trellises for rose creepers. and even a high tea lounge was set up.

It was inaugurated on the occasion of the 3rd India-Africa Forum
Summit on October 26, 2015. by External Affairs Minister
Sushma Swaraj, in the presence of Foreign Minister of
Madagascar. Beatrice Jeanine Atallah. Ambassador of Ethiopia.
Gennet Zewide and representatives from 54 countries. Hence. it
was named India-Africa Friendship Rose Garden. NDMC had
been planning to develop the land across Shantipath, into a similar
rose garden ever since.

Sub questions

Question Number : 53 Question Id : 249363526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The first big rose garden of Delhi was founded in
2015 at:

Options:

| % Satya Marg



o  Shantipath

5 % Mehrauli

4 % Niti Marg

Question Number : 54 Question Id : 249363527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which garden did M. Venkaiah Naidu inaugurate
on June 15, 20167

Options:

1 # The National Rose Garden

- % The first big rose garden
5  Ihesecond big rose garden

4 % TheIndia-Africa Friendship Rose Garden

Question Number : 55 Question Id : 249363528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is false.

The rose garden inaugurated on 15 June 2016 has
been developed for the entertainment of:

Options:
1 # Residents

> % Tourists

-  Foreign officials

4 % Staff of the African embassies

Question Number : 56 Question Id : 249363529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is common between the two rose gardens
developed in 2015 and 20167

Options:



Similar variety of roses including the natives,

, « hybrids and miniatures

« Developed from the National Garden
« Inaugurated by Sushma Swararj

4 % Situated on the banks of river Yamuna

Question Number : 57 Question Id : 249363530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Rosa Louis Odier, Voor Elisa. Blush Rambler and
Clementine are:
Options:
, % Names of foreign dignitaries

» # People visiting the rose garden
3 o Varieties of Roses

4 % [Ireesat Shantipath

Question Id : 249363525 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Juestion Label @ Comprehension
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Sub questions

Question Number : 53 Question Id : 249363526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 54 Question Id : 249363527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| ® & FE U e

o % & BEE T8 U A
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Question Number : 55 Question Id : 249363528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 56 Question Id : 249363529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 57 Question Id : 249363530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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QUANTITATIVE AFTITUDE
Section 1d : 24936349



Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 24936349
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 249363531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Al present, the ratio between the ages of A and B 15 3 : 8 and that between A and C 15 1: 4, Three years ago, the sum of
their ages was 83 vears, What is the present age (in vears) of 7

Options:

1 ® 32

o
e
LA
iy

Question Number : 58 Question Id : 249363531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TEE A ANBFA A AYF NI EAWMANCH IGF 3T 1: 4 & fF T T A
B #iT C #1 3y 7 T 83 a9 41| C = F5AW HY (36 #) B 37

Options:

Question Number : 59 Question Id : 249363532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A die is thrown twice. What is the probability that at least one of the two dice show the number 47

Options:



™

3.«:—-*5

LI | e

Question Number : 59 Question Id : 249363532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

b
4
| —

Question Number : 60 Question Id : 249363533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What should come in place of the question mark (?) in the following question?

7,960+ 2,956 — 8.050 +4.028=7
Options:

. % 6.984

o x 6.884

5 v 6.894

4 % 6954

Question Number : 60 Question Id : 249363533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



el wea # 3 2 wo7 s (?) & Ta W a7 Hem?

7960 + 2956 - 8050 + 4028 = ?
Options:

. » 6,984
. » 6,884
. » 6,894

, = 6,954

Question Number : 61 Question Id : 249363534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A man walking at a speed of 5 km/hour crosses a square field in 3 minutes. The area (in m?) of the field is:

Options:
. ®% 6.25x10*

. % 6.25%10°
2 v 3.125% 10

4 % 3.125% 105

Note: For thisquestion, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 61 Question Id : 249363534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

wm‘%aﬁmﬂﬁf#mﬁm?wmﬂﬁmzﬁmﬁmmh o W ST
(#r #F) 7= Hifaw

Options:

. % 6.25%10*

. % 625%10°

o« 3.125x 10*

4 % 3.125% 10°

Note: For this question, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.



Question Number : 62 Question Id : 249363535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The cost of 1 litre milk is Rs. 20, In what ratio should water be mixed in milk so that the cost of the milk is reduced to
Rs. 1 5/litre?

Options:

1 % 1:2

oo 1:3

Question Number : 62 Question Id : 249363535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
1 #eT gu &1 Heg 20 799 ¥ gu F 9 fw seaa # e s afer a1 gy = qE g
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Options:
T k-
o i
2% 1:4
4% 1 2B

Question Number : 63 Question Id : 249363536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the sum of range. median and mode of the numbers given below:

S e s O e i e TR AR NS e i R i
Options:
1 o 14

o B 15
z ® 16

g4 17

Question Number : 63 Question Id : 249363536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
1 % 14
oo® 1 5
SR ] 16
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GEMERAL MENTAL ABILITY AMND REASONING
Section Id : 24936350
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 24936350
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 249363537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Select the option that is related to the third term in the same way as the second term is related to the first term.

Steel : Rails :: ? : Runway

Options:
1 % Wood

- % Glass

5 w Alloy

4 « Concrete

Question Number : 64 Question Id : 249363537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 65 Question Id : 249363538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is related to the third term in the same way as the second term is related to the first term.

42 +20::64 ;7
Options:
1 31

o R 32
=z W 33

4 B 34

Question Number : 65 Question Id : 249363538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1.« 31

Question Number : 66 Question Id : 249363539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Select the option that correctly explains the relationship between the two statements below.

Assertion (A): An electric bulb makes a ‘bang’ when it is broken.
Reason (R): The air inside the bulb rushes out immediately on breaking.

Options:
, » Both AandR are true and R is the correct explanation of A.

> » Both A and R are true but R is not the correct explanation of A.

= « A istrue but R is false.

4 % A is false but R is true.

Question Number : 66 Question Id : 249363539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 67 Question Id : 249363540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If in a certain code, LUTE is written as MUTE and FATE is written as GATE. then how will BLUE be
written in that code?

Options:

1 « CLUE
> % GLUE
= % FLUE

4 % SLUE



Question Number : 67 Question Id : 249363540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. v CLUE
, ® GLUE
2 # FLUE

. = SLUE

Question Number : 68 Question Id : 249363541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the number of triangles in the given below figure.

M g

¥ ol

s

> )

.
o
Options:
1 ® 36

> « 40
z ® 44

4 % 48

Question Number : 68 Question Id : 249363541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

Question Number : 69 Question Id : 249363542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the number of triangles in the given below figure.

el

Options:
1 ® 16

o B 22

Question Number : 69 Question Id : 249363542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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GEMERAL AWAREMNESS

Section Id : 24936351

Section Number : 5

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 24936351
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 249363543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What does the abbreviation *OPCW” stand for?

Options:

, w Organisation for the Promotion of Chemical Weapons

- % Ordinance for the Prohibition of Chemical Weapons
-  Organisation for the Prohibition of Chemical Weapons

4, % Overseas Programme for the Cooperation on War

Question Number : 70 Question Id : 249363543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
aféea ¥ ‘OPCW' & 0T & &7 g7

Options:
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Question Number : 71 Question Id : 249363544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following freedom fighters was known as ‘India’s Bismarck’?

Options:
1 % Jawaharlal Nehru

- = C.Rajagopalachari
= « Sardar Vallabhbhai Patel

4 » K. Kamaraj

Question Number : 71 Question Id : 249363544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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o % BT TS
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Question Number : 72 Question Id : 249363545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who was the Wimbledon Women's Singles Champion in 20177
Options:

; % Venus Williams

> # Serena Williams

z % Petra Kvitova

4  Garbifie Muguruza



Question Number : 72 Question Id : 249363545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1. =% mﬁm

o ® m%ﬁm
. o SETREE

4 & g

Question Number : 73 Question Id : 249363546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the meaning of the term ‘ace’ in Tennis?

Options:
1 % A serve that has made a double fault

- A successful serve that the opponent fails to touch
5 » A situation when the ball has landed up

, w < state of score when either party must gain two consecutive points to win the game

Question Number : 73 Question Id : 249363546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
U# H9 fSHe FRUT UH g Fied gam 3

1 ®

, » U "ha §a 5 gfaec=dr (opponent) T Ft # fawer w@aT €

.« U R o9 9 e W RR e #

;Ih

= # T v Pt T B e 9e #  Fee & B weman @1 3 e S B 8

Question Number : 74 Question Id : 249363547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Among the following neighbouring countries of India, which has the smallest area?

Options:
1 « Bhutan

- w Nepal
= # SriLanka

, » DBangladesh

Question Number : 74 Question Id : 249363547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

aT F fAafa@a § @ FiF ¥ 95T 397 7 S9% §ed oler 272

Options:
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Question Number : 75 Question Id : 249363548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the strip of fertile land between two rivers called?

Options:
1 % Watershed

E

Water divide

ra
®

5

% « Doab

4 % Terai

Question Number : 75 Question Id : 249363548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 76 Question Id : 249363549 Question Type: TYPING TEST Display Question Number : Yes
Wornens History Month is an annual declared month that is traditionally held in March, but the study of
woITens history is valuable all twelwe months of the year. Women hawve overcorme daunting odds to succeed
and excel in all areas of hwman endeavor, including science, I'ﬂElI'lufElCtuI‘iI‘lg, athletics, business, and
exploration.
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When sorting out the puzzle, Points-based loyalty programs Vs benefits-based loyalty programs, lots of
queries might come on your mind. Both the customer loyalty programs benefit the businesses in many ways.
You need to choose the one that suits your requirermnents and budget. The motive of the lovalty programs is to
engage your prospective and existing custorners and encourage them to make purchases through your
website. In the recent years, rewards and lovalty prograrns have reached to a different level. Their different
forms hawve benefitted the small and mid-sized businesses in different ways while helping them to increase
their custormer retention and maintain their core-value. Thanlks to the advancernent in web apps which hawve
made it easier for the owners of the stores to track every purchase their customers make. That is why the
effectiveness and popularity of these programs have skyrocketed in just a few years. In a run where many
COormpanies are planning to implement the loyalty schermnes, it is impossible to avoid addressing the target
custorners unique needs. What the team of Professionals does is to provide clients with the freedorm to design
the best loyalty programs that actually hit positively when it cormes to reaching their business targets. Point
based lovalty Systermns have been popular on the market since they were introduced and now you can s8¢ thern
almost everywhere. On the basis of what customers make purchase, the points are added to their wallet. At one
point of time, customers will be eligible to redeern these points while opting for free and discounted products.
Point based lovalty systems are highly effective since it encourages prospective and existing consumers to
purchase new products. The program benefits new and repeat customers alike. [t also allows customers to
erijoy the flexible rewards systern that provides them with a quick access to avail of a wider range of exclusive
products. While benefits-based loyalty programs worlk on a different mechanism than points-based custormer
lovalty systerns do. In such loyalty marketing programs, customers do not need to collect points to avail of the
discounts and offers available on the range of products offered by the company, but they get the irmmediate
access to buy products for free and sawve huge bucks on their every purchase. The opportunity of winning the
exClusive prizes is also given to the custormers through these programs. Benefits-based loyalty Systerns are
also very helpful since it allows custormers rnot to be bounded in a time-frame. They do not have to wait to
gather the points that would make them eligible for availing of the rewsards. This also improves the sales
amazingly, which results in witnessing the jaw-dropping revenue in just a few hours of the beginning of the
lovalty scheme.

Restricted/ Unrestricted: Unrestricted

Par agraph Display: Yes

Evaluation M ode: Non Standard

Keyboard Layout: Inscript

Show Details Panel: Yes

Show Error Count: Yes

Highlight Correct or Incorrect Words: Yes
Allow Back Space: Yes

Show Back Space Count: Yes



